DI ESHERZERTREEABLS R

HIEN A 8A: 94F6H1H
g = Al B 2 3 & &
HEE(En mASK 1,368 712 2,080

MEHT 175 79 254

34 418 241 659

INEE 593 320 913

H&E(Jap R AOK 1,666 416 2,082
BB 265 115 380

®%4 938 208 1,146

NE 1,203 323 1,526

s&75(Fre BmASHE 18 33 51
MEHT 3 1 4

B 1 10 11

INEE 4 11 15

R (Ge mASK 23 39 62
BEEE 3 6 9

BY 4 14 18

NE 7 20 27

AP 5F( HHEE 15 32 47
MEHT 1 2 3

4 3 12 15

INEF 4 14 18




Az 41 ( mAAE 5 3 8
BEHE 0 0 0

B4 3 3 6

JNEF 3 3 6

BE5E (Ko mASK 65 41 106
MEHT 8 6 14

=) 36 27 63

JNEF 44 33 77

ENEERE( BmASK 7 1 8
BEEE 3 0 3

BY 3 0 3

JNEF 6 0 6

ZREE(Th mREK 0 1 1
MEEE 0 0 0

EEF ) 0 0 0

JNEF 0 0 0

AR mAEK 0 5 5
MEHT 0 2 2

B4 0 1 1

JNEF 0 3 3

{52 (Ru mASK 8 10 18




MEEE 1 1 2
B 4 8 12
JNEE 5 9 14
HEE(Vi HmASKE 1 0 1
MEEE 0 0
B4 0 0
JNEE 0 0
#HFE(Ma BEEK 913 443 1,356
HESEME 550 257 807
B 183 53 236
INEE 733 310 1,043
Ha&(Jap BARAE 7 13 20
HEEE 5 7 12
ESF 1 6 7
NEF 6 13 19
B (Ko BAEK 13 7 20
HEEHE 2 3 5
1549 11 4 15
NE 13 7 20
et T ey 4,109 1,756 5,865
BeHET 1,016 479 1,495
B 1,605 587 2,192




INET

2,621

1,066

3,687




